


 

 

     

Q.1.The total of the ages of Amar, Akbar and Anthony is 80 years. What was the total of their 

ages three years ago? 

(a) 71 years      (b) 72 years 

(c) 74 years      (d) 77 years 

Q.2.In how many ways can the word PACERS be arranged so that each word begins with P and 

ends with R? 

(a) 720       (b) 24 

(c) 30        (d) 360 

Q.3.7n
2
-7n+5-(3n+7n

2
)= 

(a) 5+10n       (b) 10n-5 

(c) -10n+5       (d) 45-10n 

Q.4. Two numbers are respectively 20% and 32% less than a third number ,what percent the 

second is of first number 

(a) 85%       (b) 72% 

(c) 35%       (d) 20% 

Q.5 If Sum of two numbers is 56 and their lcm is 105 find the numbers 

(a) 7,49       (b)24,32  

(c) 35,21       (d)27,29 

Q.6.The value of 1/1.2+1/2.3+1/3.4+……….1/9.10 is 

(a) 
  

  
        (b)  

 

 
 

(c) 
 

  
        (d) 

  

    
 

Q.7. A, B and C can do a piece of work in 6 days, 12 days and 24 days respectively. They 

altogether will complete the work in  

(a) 5 
 

 
 days       (b)  4

 

 
 days 

(c) 3
  

 
 days       (d) none of these  



 

 

     

Q.8.A can finish a piece of work by working alone in 6 days and B while working alone ,can 

finish the same work in 12 days. If both of them work together then in how many days the work 

will be finished  

(a) 3 days       (b) 4 days 

(c) 9 days       (d) 7 days  

Q.9. The 25
th

 term of an A.P. whose 9
th

 term -6 and common difference 
 

 
 is given by  

(a) 16        (b) 18  

(c) 12        (d) 14 

Q.10. In how many ways can 7 MBA and 5 MCA students be seated in a row so that no two of 

the MCA students may sit together? 

(a) ∟7x 
6
P5      (b) ∟12 

(c)  ∟5 x 
9
P7      (d) ∟x 

∟ 

∟ 
 

Q.11. Let A and B be two sets such that n(A)=0.16, n(B)=0.14, n(A∪B)=0.25 then n(A∩B) is 

equal to 

(a) 0.3        (b) 0.5  

(c) 0.05       (d) 0.005 

Q.12 Two dice are tossed once . Find the probability of getting an even number on first die or a 

total of 8. 

(a) 
 

 
       (b) 

 

 
 

(c) 
  

   
       (d)

  

  
 

Q.13.The Simple arithmetic mean of the first n natural numbers is:  

(a) 
     

 
      (b)  

   

 
 

(c) 
      

 
      (d)  

    

 
 

Q.14. If A and B are two sets (A ∩ B)' is equal to  



 

 

     

(a) (A U B)'    (b) (A ∩ B)' 

(c) (A' U B)    (d) (A ∩ B)' 

Q.15. By selling 45 lemons for Rs 40, a man loses 20%. How many should he sell for Rs 24 to 

gain 20% in the transaction? 

(a) 16    (b) 18 

(c) 20    (d) 22 

Q.16. Two trains of equal lengths are running on parallel lines in the same direction at the rate 

of 46 km/hr and 36 km/hr. The faster train passes the slower train in 36 seconds. What is the 

length of the trains ? 

(a) 50 m    (b) 72 m 

(c) 80 m     (d) 82 m 

Q.17. By what percentage the interest amount received after six year is more as compared to the 

amount after five years on Rs.1000 compound at an interest of 10% is given by 

(a) 0.1   (b) 0.1001 

(c)0.1002   (d) 0.1003 

Q18. Factors of a
3
 — b

3
 are: 

(a) (a— b) (a
2
 + ab + b

2
)   (b)(a + b) (a

2
 — ab — b

2
) 

(c) (a— b) (a
2
 —ab + b

2
)   (d) (a — b) (a

2
 + 2ab + b

2
) 

Q.19. The lateral surface area of a hollow cylinder is 4224 cm . It is cut along its height and 

formed a rectangular sheet of width 33 cm. Find the perimeter of rectangular sheet ? 

(a)232   (b)332 

(c) 322   (d) 161 

Q.20.Find the area of a triangle with two sides of 10 cm and 12 cm and the angle enclosed is 30 

degree: 

(a)120   (b)60 

(c) 30   (d) 25 

Q.21. Which of the following is not a measure of central tendency? 



 

 

     

(a) Percentile    (b) Quartile 

(c) Standard deviation    (d) Mode 

Q.22. If a= 3 b= -1 c=2. Which is true: 

(I) a+b+c=4, (II) 3a+5b=4, (III) 2c-5a=6 

(a) I only    (b) II only  

(c) I and III    (d) I and II 

Q.23. Binny is half as old as Sunny. Chinky is twice old as Sunny. How many times is Chinky as 

old as Binny? 

(a) 
 

 
    (b) 

 

 
 

(c) 
 

 
    (d) 

 

 
 

Q.24. Amit and sumit are twins. Richa is younger than sumit. Richa is younger than jyoti but 

elder than sourabh. Sumit younger than jyoti who is the oldest of all 

(a) Amit    (b) Jyoti 

(c) Richa    (d) Saurabh  

Q.25. My age is 2 years less than twice that of my brother. If I am sixteen years old , how old is 

my brother ?  

(a) 3 years     (b) 18 years  

(c) 9 years    (d) 27 years  

Q.26. blood platelets have life span of 

(a) 8-10 days    (b) 18-20 days 

(c) 28-0 days    (d) 38-40 days  

Q.27. The first Indian to receive the Raman Magsaysay Award was  

(a) Jawaharlal Nehru    (b) Maulana Abul Kalam Azad  

(c) B.R.Ambedkar    (d) Vinoba Bhave  

Q.28. Identifiy the ‘Navratna’ Company  



 

 

     

(a) ICICI Bank    (b) Infosys 

(c) HPCL Ltd    (d) Air India  

Q.29. Who among the following is associated with ‘white revolution’? 

(a) P.J.Kurien    (b) Verghese Kurien  

(c) M.S.Swaminathan    (d) M.S.Raghunathan 

Q.30. Nephron is microscopic structural and functional unit of: 

(a) Pancreas     (b) Kidney  

(c) Spleen    (d) Liver  

Q.31. Bomdi-La Pass is situated in:  

(a) Kashmir    (b) Arunachal Pradesh  

(c) Himachal Pradesh    (d) Sikkim  

Q.32.Which among the following cities is called ‘City of Golden Gate’ ? 

(a) San Francisco    (b) New York  

(c) London     (d) Berlin  

Q.33. Bogibeel Bridge’ has been constructed over the river : 

(a) Godavari    (b) Narmada  

(c) kaveri    (d) Brahamputra  

Q.34. Which of the following is not an official language of U.N.O? 

(a) Russian    (b) Chinese  

(c) Arabic    (d) Japanese  

Q.35. Which of the following reforms was carried out by Akbar in the first ten years of his rule ?  

(a) Abolition of the practice of enslaving prisoners of wars  

(b) Abolition of Tax levied on pilgrims  

(c) Abolition of Jizya on non Muslims 

(d) All of the above  



 

 

     

Q.36. The famous revolutionary song ‘Sarfaroshi ki tamanna ab hmare dil mein hain’ was 

composed by  

(a) Allama Iqbal    (b) Hasrat Mohani  

(c) Ram Prasad Bismil    (d) None of the above  

Q.37. Mahatma Gandhi first expressed with his philosophy of Satyagraha in:  

(a) Ahmadabad Mill Strike     (b) Champaran  

(c) Anti-Rowlatt Act    (d) Khilafat and Non-cooperation movement  

Q.38. Which of the following types of rocks are softer? 

(a) Igneous    (b) Sedimentary  

(c) Metamorphic    (d) none of the above  

Q39. The solar corona mainly consists of  

(a) Comic rays    (b) Molten lava  

(c) Gases    (d) Ice  

Q.40. According to the 2011 census of India , total mother tongues are recognized in the country 

are:  

(a) 122    (b) 132 

(c) 145    (d) 199 

Q.41. In India in the last 20 years the ground water level has declined over 4 meters in about  

(a) 300 districts    (b) 250 districts  

(c) 200 districts    (d) 150 districts  

Q.42. In the context of International Trade, Dumping refers to: 

(a) Selling a commodity cheaper in a foreign market and costly in domestic market. 

(b) Sending cheap goods to developing countries by developed countries.  

(c) Free distribution of used products by developed countries in developing countries. 

(d) All the above.  

Q.43. Economic liberalization in India started with: 



 

 

     

(a) Substantial changes in Industrial Licensing Policy 

(b) The convertibility of India Rupee 

(c) Doing away with procedural formalities for foreign direct investment  

(d) Significant reduction in tax rates. 

Q.44. If the cash reserve ratio lowered by the RBI, its impact upon credit creation will be to:  

(a) Decrease it    (b) increase it 

(c) No impact    (d) none of these 

Q.45. Which of the following scheme has been initiated by the government for facilitating self-

employment?  

(a) National Rural Livelihood Mission    (b) Jan Dhan Yojna  

(c) Pradhan Mantri Yojna    (d) None of the Above  

Q.46. The position of the economy of India in the world in terms of nominal GDP is: 

(a) 3
rd

    (b)4
th

 

(c) 5
th

    (d) 7
th 

Q.47. 2023 ICC Men’s Cricket World Cup is scheduled to be hosted by  

(a) Pakistan    (b) India  

(c) Australia    (d) South Africa  

Q.48. The Ganga was declared as national river of India in:  

(a) 1950    (b) 1975  

(c) 2008   (d) none of the above  

Q.49. In which of the following types of economy, the resources of production are completely 

under control of government? 

(a) Mixed economy    (b) Open economy  

(c) Closed economy    (d) Command economy  

Q.50.’NABARD’ is a/an : 

(a) Bank    (b) Financial Institution  



 

 

     

(c) Central Government Department    (d) Insurance Corporation 

Read the Passage and answer the following questions (51 to 55):  

A clone is a genetically identical copy of a living organism. Human clones are nothing new; they 

occur naturally in the recognizable form of identical twins. Not until the successful cloning of a 

sheep called Dolly, however, has the possibility of intentionally producing an identical copy of a 

human been considered seriously.  

Production of a human clone would most likely utilize the same basic methodology that resulted 

in Dolly. A human egg would be retrieved from an individual, and its genetic material (DNA) 

would be removed and replaced with DNA derived from any adult human cell type. This would 

bypass the need for fertilization of the egg by the sperm in order to obtain a lilll complement of 

DNA. In a laboratory dish, the egg would then undergo several cell divisions. Placed into a 

uterus, the resulting embryo would grow and, with luck, develop until birth.  

Although this cloning technique is conceptually and procedurally simple, its success rate has 

been extremely low. The birth of one Dolly, for instance, required the preparation of 277 re-

nucleated eggs, followed by the implantation Of 29 resulting best embryos. The low success rate 

can be attributed to the difference between the young DNA of a normally fertilized egg and the 

genetic material of the re-nucleated egg, which is mature and of defined destiny j— it has 

already committed itself to a particular physiological role. In order for proper fetal development 

to occur, mature DNA must be coaxed into reverting to its youthful state, a complex process that 

will be difficult to achieve for the human species. Beyond the practical difficulties of intentional 

human cloning, scientists, politicians, and others have raised serious ethical concerns about this 

practice. For example, there is a chance that the cloning procedure would adversely affect the 

developing embryo. There also might be deleterious effects on the long-term health of the clone. 

Proponents of human cloning counter that human sexual reproduction is not a risk-free affair 

either. Even if human cloning could be made safe, the motivations behind producing human 

clones do not fall clearly on one side of the ethical divide. While proponents stress potentially 

appealing motivations -- a man and a woman who are both carriers of a genetic disease can use 

cloning to assure that their child will not be afflicted with the disorder — critics argue that the 

practice could and likely would be used for unethical ends, such as to select for certain traits, 

such as hair/eye color or sexual orientation, for example. 

Q.51.The primary purpose of the passage is to:  

(a) dismiss a new scientific method as unethical  

(b) defend a medical procedure against unwarranted attack  

(c) explain a process and its ramifications  

(d) describe a hypothesis and its negative consequences  



 

 

     

Q.52.The author of the passage mentions Dolly most probably in order to:  

(a) Suggest that human cloning is feasible  

(b) Show that the ethical concerns against cloning are misguided  

(c) Argue that non-human cloning is less efficient than human cloning  

(d) Establish a basis for an argument against human cloning  

Q.53.According 10 the which to human cloning ?  

(a)Lack of adequately prepared human eggs  

 (b)Predetermination of DNA function within the adult body  

(c)Inability to pinpoint specific biological relationships within an eggs 

(d)Unpredictability of chemical within the uterus 

Q.54.The passage suggests which of the following 4?  

(a) Human cloning is reachable within ten years.  

(b)The cloning of non-human animals has always been successful.  

(c)The eggs of non-human animals are easier to obtain than human eggs.  

(d) DNA taken from an adult human cell contains DNA from both parents.  

Q.55.Which of the following is not given in the passage a reason not to pursue human cloning?  

(a) The unknown effects of cloning on adult human clones.  

(b) The potential harm to cloned embryos.  

(c) The chance that cloning will be used to select for only certain socially advantageous 

characteristics.  

(d) The exorbitant costs associated with the medical procedures used in cloning.  

Q.56.Fill in the blank with the most appropriate option  

Some famous writers skills have lain--------------- until quite late in life.  

(a) eclectic    (b) dogmatic  

(c) contentious    (d) dormant  



 

 

     

Q.57.Fill in the blank with the most appropriate option 

 The Director --------------me for neglecting my duty.  

(a) reprimanded    (b)enraged  

(c) attacked    (d) harshed  

Q.58.When people are 'frugal', they :  

(a) Spend sparingly    (b) Spend extravagantly  

(c) Spend mindlessly    (d) Spend impulsively  

Q.59.Fill in the blank with the most appropriate option   

Ravi had not expected to meet his friend, it was quite an-------------- meeting. 

(a) Auspicious    (b) Accidental  

(c) Undesirable    (d) intentional  

Q.60. The synonym of 'Annihilate' is .  

(a) to put out of existence    (b) to crush by word  

(c) to wither by look    (d)reduce  

Q.61.Fill in the blank with the most appropriate option :  

A child in the first grade tends to be----------- all of the other children in the class.  

(a) the same old to    (b) the same age than  

(c) as old like    (d)same age as  

Q.62.Fill in the blank with the most appropriate option: 

 The Supreme Court does not hear a case unless-------------  , except those involving foreign 

ambassadors.  

(a) a trial    (b) already tried  

(c) it already trying    (d)it has already been tried  

Q.63.Spot the Error :  

Despite of the pills (1) / which are available, (2) / many people still have trouble (3) / while 

sleeping (4).  



 

 

     

(a) 1    (b) 2 

(c) 3    (d) 4 

Q.64.Spot the Error :  

The duties of the secretary are (1) / to take (2) / the minutes, mailing (3) / the correspondence, 

and calling the members before meetings (4). 

(a) 1    (b) 2 

(c) 3    (d) 4 

 Q.65.Choose the order of the sentences marked a, b, c, d and e to form a logical paragraph.  

a. The newspaper man, the flower seller, the milkman, the sweeper, they are all privy to the 

chatting and sharing of news that the elderly find comforting.  

b. When we remove them from their homes, it is not only the family that they are being 

removed from, but all those other people that they see every day and whose joys and 

woes become their own.  

c. In our system of living, the elderly at home have a circle of acquaintances, and friends.  

d. The loneliness of the discarded elderly is manifold.  

e. When we forcibly remove people from surroundings they have been part of for decades 

we put an un-mendable tear in the fabric of their lives.  

(a) decab    (b) abdce  

(c) ecadb    (d) dbaec  

Q.66.Give the meaning of the underlined word :  

He was so involved in his quest for spiritual enlightenment that he regularly forgot more 

quotidian concerns.  

(a) Difficult     (b) important 

(c) Ordinary    (d) Expensive  

Q.67.Choose the correct answer:  

The science fiction novel, published in 1955, was strangely It pictures the year 2000 as having no 

flying cars, but a communication system known as the 'interconnect' used largely for online 

shopping and wasting time.  



 

 

     

(a) Prolix    (b) prescient  

(c) Peripatetic    (d) penury  

Q.68.'Loss of memory' is known as .  

(a) insomnia     (b) somnambulism  

(c) dyslexia    (d)amnesia 

 Q.69.Complete the sentence: 

Many a girl……….. 

(a) have scored good marks   (b) have been scoring good marks  

(c) has scored good marks    (d) are scoring good marks  

 Q.70. Fill in the blank with the appropriate option  

The old woman I saw last night was blind……………. one eye.  

(a) of    (b) from  

(c) in    (d) by  

Q.71.Choose the option that gives correct meaning of the sentence  

The experiment only looks like a success.  

(a) It is not possible to see the experiment as anything but a success.  

(b) The experiment seems successful, but we don't know for sure.  

(c) The experiment has the appearance of a success, but really is a failure.  

(d) None of the above.  

Q.72.Fill in the blank with the most appropriate option:  

The management is seized…………… this problem.  

(a) with   (b)in  

(c) of   (d) from  

Q.73.The passive voice of "Are you doing your work is :  

(a) Is the work being done ?    (b) Is your work being done ?  



 

 

     

(c) Is your work being done by you ?    (d) Are your work being done by you ?  

Q.74.Fill in the blank with the most appropriate option :  

In spite of the film's many faults, on the it's worth  

(a) overall    (b)whole  

(c) totality    (d)total  

Q.75.Fill in the blank with the most appropriate option: 

Mr. Shanna, the critic was……………. enough to praise an author he detested.  

(a) magnanimous    (b) verbose  

(c) humble    (d) loquacious  

Q.76.In a certain code 98602 is coded as M ANGO, 0139867 as GERMANY, then how is 

9868013 coded as ?  

(a) MANEGER    (b) MENEGER  

(c) MENAGAR    (d)MANAGER  

Q.77.Ashoka said to Upagupta, "When I add six times my age 6 years from now to seven times 

my age 7 years from now, I get 14 times my age 3 years from now. J will be a Samrat in 3 years 

from now." At what age did Ashoka become a Samrat ?  

(a) 46 years  (b) 33 years  

(c) 55 years  (d) 40 years  

Q.78.If 'orange' is called 'butter', 'butter' is called •soap', •soap' is called 'ink', 'ink' is called 

'honey' and 'honey' is called 'orange', which of the following is used for washing clothes ?  

(a) honey    (b) butter  

(c) orange    (d)ink  

Q.79.In a certain code, '289' means 'read from paper', '276' means 'tea from field' and '85' means 

'wall paper'. Which of the following is the code for ’paper’?  

(a) 2    (b) 8 

(c) 9    (d) 6 



 

 

     

Q.80.The door of my house faces East. I walk from my back door 100 m, then turn right and 

walk 100m, and then turn left and walk 50 m to reach a point X. In which direction am I from the 

starting point? 

(a) North West    (b) West  

(c) North    (d) South  

Q.81.A person when asked the time answered, "The hours of the day which remain are equal to 

one seventh of those which have passed." What time was it ?  

(a) 9 p.m.  (b) 3 a.m.  

(c) 7 p.m.  (d) 8 a.m.  

Q.83.A wall clock takes 6 seconds to strike the number of hours at 6 0'clock. The time it will 

take to strike the number of hours at 1 1 0'clock is :  

(a) 10 seconds  (b) 10— seconds  

(c) I I seconds  (d) 12 seconds  

Q.83.A boy was asked to multiply a certain number by 53. By mistake, he multiplied it by 35 and 

got his answer less than the correct one by 1206. The number to be multiplied was ?  

(a) 62    (b) 67  

(c) 74    (d) 76  

Q.84.If the seventh day of a month is three days earlier than Friday, what day will it be on the 

nineteenth day of the month  

(a)Sunday    (b) Monday 

(c) Tuesday   (d) Friday   

Q.85.A clock seen through a mirror reads a quarter to nine. Find out what is the actual time ?  

(a) 1:15    (b) 9:30  

(c) 3:15    (d) 9:15  

Q.86.In certain code language, 35796 is written as 44887. How is 46823 written in that code ?  

(a) 57914    (b) 55914  

(c) 55934    (d) 55714  



 

 

     

Instructions for questions 87-90 : The problems contain a question and two statements giving 

certain data. You have to decide whether the data given in the statements are sufficient for 

answering the questions.  

Q.87.P, Q, R are negative integers and t is a number. Is t negative?  

t=P -Q  

2. tR=P  

(a) If statement I alone is sufficient but statement 2 alone is not sufficient.  

(b) If statement 2 alone is sufficient but statement I alone is not sufficient.  

(c) If both statements I and 2 together are sufficient but neither of statements alone is sufficient.  

(d) If statements 1 and 2 together are not sufficient.  

Q.88.What is Akbar's age ?  

1. In 15 years Akbar will be twice as old as Ali would be.  

2. Ali was born 5 years ago.  

(a) If statement 1 alone is sufficient but statement 2 alone is not sufficient.  

(b) If statement 2 alone is sufficient but statement 1 alone is not sufficient.  

(c) If both statements 1 and 2 together are sufficient but neither of statements alone is sufficient.  

If statements I and 2 together are not sufficient.  

Q.89.What is the distance between city A and C ?  

1. City A is 40 kms from city B.  

2. City B is 30 kms from city C.  

(a) If statement I alone is sufficient but statement 2 alone is not sufficient.  

(b) If statement 2 alone is sufficient but statement 1 alone is not sufficient.  

(c) If both statements I and 2 together are sufficient but neither of statements alone is sufficient.  

(d) If statements I and 2 together are not sufficient.  

Q.90.What is the value of r ? p, q, r are real numbers.  

1.q-r=r-p  



 

 

     

2. p+q= 10  

 (a) If statement I alone is sufficient but statement 2 alone is not sufficient.  

 (b) If statement 2 alone is sufficient but statement 1 alone is not sufficient.  

(c) If both statements I and 2 together are sufficient but neither of statements alone is sufficient.  

(d) If statements 1 and 2 together are not sufficient.  

Direction for questions 91-95 : The following table shows the domestic sales of scooters by the 

five manufacturer from 1988 to 1993.  

(Figures in '000s) 

Manufacturer 1988 1989 1990 1991 1992 1993 

A 440 480 470 500 520 510 

B 400 410 415 415 420 430 

C 380 390 390 400 420 495 

D 360 380 400 415 440 500 

E 480 440 440 420 425 435 

 

Q.91.Considering the period given, the domestic sales of which manufacturer is the highest?  

(a) A   (b) B  

(c) C    (d) D 

Q.92.What is the approximate share of domestic sale of scooters of the manufacturer B during 

1989 ?  

(a) 10.5%    (b) 25.5%  

(c) 15.5%    (d) 19.5%  

Q.93.During 1993, the sale of which manufacturer has shown the maximum percentage increase 

over the previous year?  

(a) A   (b) B  

(c) C    (d) D 

Q.94.What is the ratio of the minimum sale to the maximum sale of scooters during 1991?  

(a) 0.9   (b) 0.8  

(c) 0.6    (d) 0.5  



 

 

     

Q.95.In respect of which of the following combinations, the sale of scooters is the highest over 

the period shown?  

(a) D- 1993    (b) A-1991  

(c) A-1993    (d) A-1992  

Direction for questions 96 - 100 : These Questions arc based on the Table given below  

Market shares in Four Metropolitan Cities 

 Bombay Calcutta Delhi Madras 

Periods/Products 1993-94 1993-94 1993-94 1993-94 

HD 20-15 35-30 20-15 20-30 

CO 20-25 30-15 15-10 20-15 

BN 45-40 25-35 35-35 10-10 

MT 15-20 10-20 10-10 50-45 

 

Q.96.The maximum percentage drop in market share is ?  

(a) 60%    (b) 50%  

(c) 53.3%    (d) 20%  

Q.97.The city in which minimum number of products increased their market share in 1993-94, is 

?  

 (a) Bombay    (b) Delhi  

(c) Calcutta    (d) Madras  

Q.98.The market shares of which products did not decrease between 1993-94 in any city ?  

(a) HD     (b) CO  

(c) BN   (d) None of these  

Q.99.The number of products which had 100% market share in four metropolitan cities is ?  

(a) 0    (b) 1  

(c) 2    (d) 3 

Q.100.The number of products which doubled their market shares in one or more cities is ?  

 (a) 0    (b) 1  

(c) 2    (d) 3 




